XML para carga masiva de constancias sencillas

<Costancias»
<Costancialcar
<id_importador_exportador: <fid_importador_exportador:
<fecha»28-81-2014</fecha>
<id_destinatario»l6432</id_destinatario>
<id_pais»49</id pais»
<id puertos_de_entrada»>142</id puertos_de_entrada:
<id transportadorax1</id transportadora:
<guia_aesreax>QAZ3IE508</guia_asrear
<fecha_despacho>28-21-2014</fecha_despachor
<fecha_walidez desde>28-81-2014</fecha_validez_desde>
<fecha_validez hasta>30-83-2014</fecha_validez_hasta>
<id_especie»349</id_especier
<id_puertos>1</id_puertos:
<n_identificacion»830818578</n_identificacion>
<bouquets>NO</bougquets:
<num_bouguets>@</num_bouquets>

<usuarios w/usuarios>
<contrasenaX </contraszena>
<ip_equipo:! </ip_equipo>
<Productos:

«id cultivor4412</id cultivo:
«id asistente>2366</1d asistentex
<id producto>21655</id producto>
<det_cantidadUnidades»>45</det_cantidadUnidades:>
¢id_uMedida>2</id_uMedida>
<id_empaque>37</id_empaque>
<id_presentacion»1</id_presentacion:
<det_cantidadEmpagques>22</det_cantidadEmpaquess>
<det_valorFOB>2856</det_valorFOB»
</Productos:
</Costancialca>
</Costancias>



XML para carga de constancias masivas

<Coztancias>

<Costancialcar
<id_importador_exportador: Fid_importador exportador:
<fecha>28-81-2814</fecha>
<id destinatarioc»16432</id destinatario:»
<id_pais»49</id_pais>
<id_puertos_de_entrada>142</id_puertos_de_entrada>
<id_transportadora>l</id_transportadora>
<guia_asrea>QAZ36598</guia_ssrear
<fecha_despacho»28-81-2014</fecha_despachor
<fecha_wvalidez desder28-81-2014«/fecha_walidez desde:
<fecha_wvalidez hastar38-83-2014«/fecha_wvalidez hasta:x
<id _especie»34%9</id_especie>
<id puertos>1</id_puertos:
<n_identificacion>830018578</n_identificacion:>
<bouquets>NO</bouquets>
<num_bouguets»@</num_bouquets:

CUSUBMLOF i meee v cmvimme ot/ UsSHErLD >
<contrasenaXximmiin T mw </contrasenasr
<ip_equipox! /ip_equipox
<Productos>

€id _cultivo»4412</id cultivo:
<id_asistente>2366</id_asistente>
<id productor>21655</id_productor
<det_cantidadUnidades»45</det_cantidadUnidades>
<id_uMedida»2</id_uMedida>
«id empaquer37</id empaquex
<id presentacion»l</id presentacion>
«det_cantidadEmpaques»22</det_cantidadEmpaques:
<det_valorFOB>9856</det_valorFOB>
</Productos>
</Costancialcar



<Costancialcar

<id_importador_exportadors: ¢/id_importador_exportador:

<fecha>28-81-2814«/Techa>
<id_destinatario»16432</id_destinatario>
<id_pais»49</id_pais»
«<id_puertos_de_entrada>142</id_puertos_de_entrada>
«<id_transportadora>1</id_transportadora>
«<guia_aereax>UvII98745</guia_sereas
«fecha_despacho»28-81-20814</fecha_despacho»
«fecha_validez_desde»28-81-2014«/Techa_validez_desde>
«fecha_validez_hasta»3@-83-2014«/fecha_validez_hasta>
«id_especie>34%</id_sspecier
<id_puertos»1</id_puertos>
<n_identificacion>838018578</n_identificacion>
<bouquets>NO</bouquets>
<num_bouguets>@</num_bouquets:

<usuarior rfusuarios
<contrasena> </contrasena>
<ip equipo>: /ip_equipor
<Productos:

<id_cultiveo»4412</id_cultivos
<id_ssistente>2366</id_ssistente>
<id_producte»28176</id_producto>
<det_cantidadUnidades>45</det_cantidadUnidades>
<id_uMedida>»2</id uMedida>
<id_empagque>37</id_empaque>
<id_presentacion»1</id presentacion>
<det_cantidadEmpaques>22</det_ cantidadEmpaques>
<det_valorFOB>3256%9</det_valorFOB>
</Productos>
<fCostancialca>

<Costancialcar

<id_importador_exportadors :/id_importador_exportador:

<fecha>28-81-2814«/Techa>
<id_destinatario»16432</id_destinatario>
«id_pais»49</id_pais>
«id_puertos_de_entrada>142</id_puertos_de_entrada>
«<id_transportadora>1</id_transportadora>
«<guia_aerea>RET98745</guia_serea>
«fecha_despacho»28-81-20814</fecha_despacho»
«fecha_validez_desde»28-81-2014«/Techa_validez_desde>
«<fecha_validez_hasta»2@-83-2014</fecha_validez_hastax
<id_especie»342</id_especier
<id_puertos»1</id_puertos>
<n_identificacion>838018578</n_identificacion>
<bouquets>NO</bouquets>
<num_bouguets>@</num_bouquets:

<usuarior wfusuarior
<contrasenaslollColll </ contrasenas
<ip equipo>: </ip_equipo>
<Productos:

<id_cultiveo»4412</id_cultivos
<id_ssistente>2366</id_ssistente>
<id_producto>28176</id_producto>»
<det_cantidadUnidades>45</det_cantidadUnidades>
<id_uMedida>»2</id uMedida>
<id_empagque>37</id_empaque>
<id_presentacion»1</id presentacion>
<det_cantidadEmpaques>22</det_ cantidadEmpaques>
<det_valorFOB>6986</det_wvalorFOB>
</Productos>
<fCostancialca>



<CostanciaIcax

<id_importador_exportador: </id_importador_exportador:

<fecha»28-82-2014«</fechax

<id destinatario>16432</id_destinatario>

<id_pais»49</id pais>»

<id puertos_de_entrada>142</id_puertos_de_entradar>

<id_transportadorarl</id_transportadorar

<guia asrear>BHG4578</guia_aereax

<«fecha_despacho»>28-22-2014</fecha_despacho>

<fecha_walidez desde»28-82-2014«</fecha_wvalidez desde:

<fecha_walidez_hasta»30-83-2014«/fecha_validezr_hasta:x

<id_especie>349</id_especie:

<id puertos>1</id_puertos:

<n_identificacion>838018578</n_identificacion:>
<bougquets:NO</bouquets>
<num_bouguets»@</num_bouquets>

<usuariosl : < fusuarios
<contrasenaX l</contrasenar
<ip_equipo:! </ip_equipo>
<Productos>

<id_cultivor4412</id cultivos
<id_assistente>2366</id_ssistenter
<id productor13884«/1d productor
<det_cantidadUnidades>45</det cantidadUnidades>
<id_uMedida»2</id_uMedida>
<id_empaque>37</id_empaque>
<id_presentacion»>1</id_presentacion:
<det_cantidadEmpaques»>22</det_cantidadEmpaquess>
<det_wvalorFOB>8379546</det_walorFOB>
</Productos:
<Productos:
<id cultivor4412</id cultivo:
<id_asistente>2366</id_asistente:
<id_producto>28176</id_producto:
<det_cantidadUnidades»45</det_cantidadUnidades>
<id_uMedida>2</id_uMedida>
<id_empaquer»37</id_empaquer
<id presentaclon»l</id_presentacion>
<det_cantidadEmpaques>22</det cantidadEmpaques:>
<det_valorFOB>46549587</det_valorFOB:
</Productos>
</Costancialca>
</Costancias>



